Simplify.

pP?P—p—20 p*4+Tp+12
p—75 P+ 8p+ 16

w? —4w wr+w-—20

3. .

2w + 10 3w — 12

2 3
5 Y +7y+10‘ 2y° — 8y
’ 3y2 -6y Yy +4y+4
. de? . 4de
" 6d—4e " 24d — 16¢
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o2 8415 r—3
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11 z+12 22 —T72+10

z—5 T,22—1Oz+25
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10.

12.

B24+7b+12 b—3
b2 —9 b+3

a? — 25 5a — 5
a2 —-2a—15 a?2+44a—-5

2¢2 +3c—20 24c® +52¢ — 20
15¢2 4 65¢ + 20 4¢2 — 25

2p —10q | 6p — 30q
12p+4q = 9p+3q

2
9  p°—9p+14
p°—Tp) + ———
( ) 2
P-4 29°+4g

2+g—6 ¢2+9g+18
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Answer List

1. p+3 2. ll:[—g

3. el 1

5. 2wk 6. ey

7. e 8. %

9  TBrTD 10. ezl

11, =2 12. £
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